J 0 ’6 ﬂ @ Divisdo de polinémios

Nome: Encontro: Data: Pontuagao:
2 —3x—28 350 — 152 + 10x
x— 7 S5x
A2x3 — 2452 + 54x 283 + 122 — 24x
6x 4x
5403 + 512 —2x+ 14 5x2 — 4lx+ 42
6x+ 7 x—7
2153 + 172 — 25x — 18 28x2 + 47x+ 15
3x+2 4x+ 5
81x° — 9% — 36x 40x2 + 70x + 30
Ox 5x+5
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J 0 ’6 % @ Divisdo de polinémios

Nome: Encontro: Data: Pontuagao:
x%—3x—28 35x° — 152 + 10x
x— 7 S5x
x+4 7x2 —3x+2
x> — 24x% + S4x 28x° + 120 — 24x
6x 4x
7x2—4x+9 7x2+3x—6
5403 + 512 —2x+ 14 5x2 — 4lx+ 42
6x+ 7 x—7
O — 2x+2 5x— 6
2153 + 172 — 25x — 18 28x2 + 47x+ 15
3x+2 4x+ 5
T +x—9 Tx+3
81x° — 97 — 36x 40x2 + 70x + 30
Ox 5x+5
0 —x—4 8x+ 6
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